Go to page 2 for the ANSWERS to this practice assignment.

Use the translation (x,y)—(x+3,y—6) for questions 1-7.

What is the image of A(1,-3)?
What is the image of B(6,-1)?
What is the image of C(2,0)?

What is the image of B"?

What is the preimage of D'(-12,-7)7?
What is the preimage of E'(6, -5)?
7. What is the image of F(0, 0)?

The vertices of 2ABC are A(6,-3),B(—-3,-1) and C(5,2). Find the vertices of 2A’'B'C’, given the
translation rules below.

ok whpE

8. (x,y)—(x,y—6)
9. (xy)-(x-11y)
10.(x,y)~>(x+2,y+3)
11.T.7,10 which is another way of writing (x,y)—-(x-7,y+10)
12.T1 -1
13.T4-10
In questions 14-15, write the translation rule that would map each preimage to its image.
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ANSWER KEY
Use the translation (x,y)—(x+3,y—6) for questions 1-7.

1. What is the image of A(1, 3)1A(4 -9) !

A (145,-3-6) = A'(4)

2. What is the image of B(6, 1)‘{8(9 7)|

rb (G, -|~¢> B'(7,-1)

3. Whatis the image of C(2, O)

+3 0-¢)=C' (5)'@>
4, Whatlsthe |mageofB’[’B(12 -13)

UR B fom ko B'(A+3-1-6) = B (123)

5. What is the prelmage of D'(-12,-7)? D(-15, -1)

Togo bacgmardy (x-2y+0) D-0-2)-HE)=DEBA)

is the preimage of E'(6, 5) E(3, 1)

RBaceardf (X-300) E (G154 = EC3))

7. What is the image of F(0, 0)}

F'(0+3,0-0) = F'(3-0)

The vertices of 2ABC are A(6,-3),B(-3,-1) and C(5,2). Find the vertices of 2A’'B'C’, given the
translation rules below.

. (xy)=(x.y-6) [A'6, 9) BI(-3, -7) C'(5, -4)

I [(;,,«%) 2A Gor™), B34-6 )R 3D 0 (5, 2-6CXCER)

L (Y)-(x-11,y) (5, -3) B'(-14, 1) C'(-6, 2)

A((o-ll A [-53), B L3R 19D, ¢ (511,26 R)

10.(x,y)~(x+2,y+3) A, 0)B'(-1,2) C'(7, 5

A' (v, -343) A (€1D), B (k2147 B (-112) 0(9;1,2+3)=c(75

11.T.7,10 which is another way of writing (x,y)—-(x-7,y+10) ﬁ (-1, 7)B’(-10,9) C'(-2, 12)

A (-7-3+0)=A%7), B (-3-1, -1HO )= B (- 10) ), (57,40 FC L




Ak, -3-N=A'(74
A‘Mfeﬁ?oﬂel)
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12. T1 A A(7, -4) B'(-2, -2) C'(6, 1)

B (*3*1,-1 -)=BEAC (51, aD)=C' (6 1)

13.Ta10|A(10, -13) B'(1, -11) C'(9, -8)\
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T(X, y) -> (X' 2, y+3)

e

T(X, y) -> (X+5’ y+3)




